o
Ll

,
po.c —Z

=i ﬂﬂcien \-C }c: tg :"o 26 (o) i
el = oy e .
o0 Vs loo Goze y
g
— A -2 -

L

n .Ln_g.sm;._s._ _L L] |
B _L_? G= 3@ ] -_—_.—-_ —Ll__
Hodmar WMAQ0 -+ 32l - i_lz

—

—~ $60 cc ___

3% 9o m! UL L8O
2B PO.‘ v '”\"LD x T

ln%reﬁ.ﬁ‘ﬂ |

L W)




| Paciente 2. _ B
L {lOoxlag = oo S \ S ZOQL_/_-:& Z 3 WA ar r.,;....l
— lQX_S_:_B.OQ_ N _jD?-\I)_S_'.‘;_ WOl v = L@l gl
@2 = 20 - AF lol /1o =\ol mes ]
_iS&a o) ¥ Yo =Hot m]) |

S |
_.:‘:LC'I = L](—- i.l ..3.\.&} — = — —

Necgy = Lol Y w) _ N |_m 4_1
leee Lo wmeg . aly j\
|




M
LY

Formuler
ParCe e A ke
lo x \op =

Lo
XSoz 150
8%
i~ N |
>l ) e B |
Macy = 35
i - ; J

-:C‘S__‘f?_é_ mifnnzge -‘)_L._&J.' Bl ) =

VIS, ol e S

u\(éaé =3 W
2.4 mlag 3
s BLY ence |

VAL

RS0l D
Wi el | 58
i } 'i

05 K ‘1c‘ z

—




198 /s = eca o _ :
= C‘%ﬁpm’}_(;;.,.gq‘g [;_ogml qeted han s 28 mm
| 28]~ B2 -l T e T |

. - —

e r_d_
8. &lmi 5

wt@rl

23 ‘PCKC 1€ !rf__ Pl

\O Avgd = \0Oo

@ % S

1)3’ £

Soo —
60 1A plstsd ,_\
_é 520wl ‘ YAl ] \
5.5 -'! 100 ol = UEEC mifined /‘Cﬂm I ‘*_l‘ifhf)r\?

e f = IS - - | .I
i I | 2
241 < \ L opnt .\; .II"\ G S 'I.n:.r[ r."’-'@@\y\_[‘. “I'?r‘_'""ecl.l
. |
'3 |
| IS o wn € = 15 B sta iy, /S- qu'
= 2 ] 2 ,
| : |
Y ¥ |




